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1 (MRS 7= E 1 10,000
2 |7t7tet S 0| 1 9,500
3 (22| st F=Crf 1 12,000
4 |Z7|2|E EIH O e R? 1 13,000
5 |84 A, YWHI! 1 10,000
6 |2A=H2l O|Af 1 15,000
7 | X052 FEH 1 12,000
8 [0l 08 =52 Fotzl 1 12,000
9 [AHCt2| H HA} 1 9,000
10 [HICHA S, 3Ol of 1 12,000
11 [LiPF =&E & 0[oF7| 1 12,000
12 |#+E0] 1 12,000
13 |=2|2f 0|0 1 12,000
14 |90 =5 1 9,800
15 | =& E7)|E Th&tCt 1 10,500
16 |58 A2 0| 1 13,000
17 | =2t 2, W T OF X M! 1 11,000
18 |=0|50| 250 1 12,000
19 |4~H9| O3 1 13,000
20 [zt 323 1 13,000
21 |HFCF OFO| HCH1 1 12,000
22 |HC} OFO| FCH2 1 12,000
23 |HFCF OFO| ZCH3 1 12,000
24 |55, ofgst 71’4 50| HHorgtE LTt 1 12,000
25 | X| 7 1 11,000
26 | RE|7} A= BH2 1 13,000
27 |2 F A0S == 1 13,000
28 | Cie|7F 22t o 1 11,800
29 M= SES 4 40,000
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SHig S4 369,600




